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(1)  There are 50 questions in the Test Booklet.
The answer of each question is any one
out of A, B, C and D. Four alternatives
are given with the question. You have to
answer all the questions.

(2)  Each correct answer carries (1)one mark.
For each wrong multiple answer for each
question. will be treated as wrong. No
negative marking for wrong answer.

(3)  You have to answer on the OMR Sheet is
given separately to you. For example :
Which State of India has the longest Sea

Coast ?
(A) Maharashtra (B) Tamil Nadu
(C) Gujarat (D) Andra Pradesh

In OMR Answer Sheet :

ONON N0

The true answer is "C". Hence circle of
"C" is blackened (encode).
(4)  Don't write anything on the Test Booklet.
(5)  Use blue/black inked ballpoint pen for
filling responses in the OMR Answer
Sheet. Any other ink, pen or Pencil is
strictly prohibited.

(6) During exam from candidate, if any false
matter, guide, cheats, slips, any handwritten
material, any printed material, mobile phone,
pager, calculator or any electronic
equipments are found he/she will be
disqualified.

(7) Gossips, making noise or disobeying
instructions given by Invigilator will be
considered disobedience.

(8) Do Rough Work on last page.
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Candidate's Roll No. | Time :1 Hours |
| Total Ques. : 50 |

| Total Marks : 50 |

Do not open the Question
Booklet until ask to do so.
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1 A psychotic person would probably score the highest on which
MMPI-2 scale ?

(A) Depression (B) Hysteria
(C) Schizophrenia (D) Mania
Y00 ulsa seid s MMPI-2 3@ ur il ay R 59 ?
(A) sdl (B) [t
(©) REA3Mw (D) aaml
2 Learning by imitating others behaviour is called learning.
The researcher best known for studying this type of learning is.
(A) Opbservational: Bandura (B) Secondary: Pavlov
(C) Observational: Watson (D) Secondary: Skinner
ofloeil A vgswL s dllug 2 el s B, w0 usiei Rawid
R 2L Hie ARl Aus B,
(A)  adlseldns: siyRL (B) w=alis: wada
(C)  adlsrilcts: dlaun (D) oler RER
3 Which of the following internal conditions determine perceptual process ?
(1) Intelligence (2 Emotion
(3) Motivation (4) Information
(A) (1) and (2) only (B) (2) and (3) only
(©) (2) and (4) only (D) (1) and (4) only
A 6 idRs RAf Anwulsid uBu 458 53 8 ?
() ala (2) el
(3) u=eu. (4) ulsdl
(A) =L (1) 24 (2) (B) Ut (2) 4 (3)
(C©) et (2) 21 (@) (D) (1) 21 (4)
4 The location of the optic nerve exit point from the retina of the eye is called as
(A) Bipolar cell (B) Fovea
(C) Blind spot (D) Cone
v el [R5 d AlEHe Wi 2@ sduy &
(A) slyulaR A4 (B) slda
(C) caud=s Wle (D) s

5 Which of the following personality psychologist does not fall in the group
of humanistic approaches of personality ?

(A) Carl Rogers (B) Rollo May

(C) Martin Saligman (D) Abraham Maslow

“NA-uaiell 53 lstica sl efERicait qisiadiand s UMl 2iadl o ?
(A) sd A (B) dl %

(C) il AlarA+ (D) isU8H M)
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6 A subject has a T score (Mean = 50; SD = 10) of 40 on an abstract reasoning
test. The corresponding percentile rank would be
yd of udawt w Revasdl T 282 (4 = 50; SD = 10) 40 8.
23U yAr2LHE s 8
(A) 16 B) 34 ) 40 (D) 84

7 Which of the following tests are considered to be culture-fair tests of
intelligence ?
(1) Cattell's Culture-Fair Test of Intelligence
(2) Raven's Progressive Matrices
(3) Wechsler's Intelligence Scale for Children
(4) Good enough-Harris Test

(A) (1) Only (B) (1) and (2) Only

(©) (1), (2) and (3) Only (D) (1), (2) and (4) Only
DAl 585 50220 oyl Argli-diooell sl ot 214 8 7
(1) 32a-l seu-32 oyls-ll sAEl (2) W~ WA AR

(3)  umAl 2 Asea Sl B (4)  ydl wdl-dRa e

(A) e (1) (B) o (1) 24 (2)
(©) At (1), (2) »11 (3) D) At (1), 2) w1 (@)
8 'Males are more extraverted than females' is an example of
(A) Null hypothesis (B) Non-directional hypothesis
(C) Directional hypothesis (D) Unverifiable hypothesis
‘Yarll Wl s2di ay efefell €l 8 A Belsw 8
(A) & yduieu (B) [Raudl yduireu
(C) Rawyas ydursw (D) asel 4 sA wsia adl ydureu

9 For an intelligence test, while computing item-remainder correlations for
item analysis, we compute
(A) Phi-coefficient (B) Spearman rho
(C) Tetrachoric correlation (D) Point-biserial correlation
Svelu-u 22 W2, ey Rsduwl w2 e sl nedisitl-l Al sl
quid, 249l Aetdd) s3at Yl
(A) gl-a.is B) AW A
(C) 2215Rs us sy (D) Wd2-oudfl{ae Aol

10 Which one of the following is the most important feature of the defence
mechanism of Rationalization ?
(A) Going back to an earlier stage of development
(B) Justifying one's actions
(C) Magically atoning for certain acts that give rise to guilt
(D) Attributing one's emotions to other persons
QA-unisfl 5y wesdaun- A ughidg Al Hecad aan 8 ?
(A) [Rsiedl udalel deissidi Wt %9q
B) ASA Buwila ARl 3adl
(C) 2y gell w2 g Ad wulud 529 ¥ uAHA ¥4 200 B
(D) af&Fil ariefada s sl sieudd
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The chronological age that most typically corresponds to a given level of
performance is called

(A) Intelligence Quotient (B) Maturation

(C) Mental age (D) None of the above

WHARS a4 ¥ ¥ Aty Ad 2004 WsdHedl W 234 U D AN sSauni 20d B
(A)  Seluw-u dulis (B) uRusaal

©) s G (D) GuAscrizdl 1S «dl

The human ear can generally hear sounds ranging from
Hirtd sist A ol 3l s aietell 93 9

(A) 20-1000 Hz (B) 10-2000 Hz
(C) 20-2000 Hz (D) 1000-5000 Hz

Ventromedial nucleus, a central area on the underside of the hypothalamus,
lead to

(A) Excessive eating (B) Stop-eating

(C) Stop sex (D) Excessive obesity
2R e Ry, slandyaddl A 3-ld Ridr, ds 94 a8
(A) »laga susr (B) mhdld eit s2A

(C) AsA oiy s (D) wldad @yundl

Which of the following statements concerning reinforcement is correct ?

(A) Learning is most rapid with partial reinforcement, but continuous
reinforcement produces the greatest resistance to extinction

(B) Learning is most rapid with continuous reinforcement, but partial
reinforcement produces the greatest resistance to extinction

(C) Learning is the fastest and resistance to extinction is the greatest after
continuous reinforcement

(D) Learning is the fastest and resistance to extinction is the greatest

following partial reinforcement

RE-AA2 23 QAvniell 53 R iz & ?

(A)  wilus Horodlsze 1A fuig Al Bl 8, wig Add HwoLdlsRl g yal
w2 Alell ay wkisik A8l 52 O

(B)  ada %wodlsrel il el Al 33l 8 uig wilus Hosepdlsrel gl R
Al ay wlkisk Vel 52

(C) gt Al 33l B A udd wyoydlsel uedl gyl UkisR Dell DA S

D) g 2 Aefl Ul B 27 et A=l WRSR A wHifus wosoydlsa siqada
qlefl WA B

Which of the following tests is an aptitude test ?
1A euldanidl 58 sadl AUl 502 ] ?

(A) TAT (B) CAT
(C) SAT (D) DAP
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16 Who gave the theory of Learning by Effectiveness ?

(A) Murray (B) Freud
(C) Throndyke (D) Watson
olgalysd iR Rigid S8 2 ?

(A) W (B) 883

(C) AD-Ss (D) dlea

17  Which hormone secrets from pancreas gland ?

(A) Insulin (B) Istine
(C) Thyroxin (D) Cortin
algfis il vadl wa s 8 7

(A) Sydl- (B) ¢=2d+
(C)  wuAlsun (D) A+

18 Which among the following is the principle of personality trait given by
Maclalends 7

(A) Mental (B) Self-concept
(C) Personality (D) All the above
AsQA=l lFicaqi Rt qapil Rigid s34 8 ?

(A) w-lus (B) UM e
(C) s (D) Gusd dxm

19 Attributes of Sense

(A) Quality (B) Mis-quality
(C) Heat (D) All of these
Aderid aael 53 & ?

(A) 3L (B) adel

(©) =Ml (D) 2uld ddd

20 Who gave the theory of trial and error ?

(A) Paviov (B) Mill

(C) Kohler (D) Thorndyke
YUil 2R el Rigid S8 vl ?

(A) wadla B) Ba

(C) e (D) -duds

BPK-21005_D] 5 [ Contd...



21

22

23

24

25

Which method is also called abet-mental method ?

(A) Field observation (B) Development method
(C) Case history method (D) Introspection method
58 ualiA Guielcls ugll sdami 2ud B ?

(A) & Mlaw (B) [srucs ught

(C©) alsa Shsin gl (D) idMAae2 uglt

Which of the following is not a type of Hallucination ?

(A) Smell (B) Sound
(C) Taste (D) Projection
2 U4 o Rened wsik el ?

(A) oy (B) ey

(C) Rale (D) dauel

Which among the following is work of Processing ?

(A) Simple (B) Method
(C) Formidable (D) Experiment
Al uBasa sid 54 8 ?

(A) w4 B) uslt

(C) %4 (D) wdaL

Who gave the concept of functionalism ?

(A) Wudnt (B) John Dewey
(C) William James (D) Angel
sidaledl you @IS A8 8dl ?

(A) q- (B) €4 &8
(©) [layx o (D) »lwa

What is the state of the test when the measure of coefficient of correlation
is higher ?

(A) Reliability (B) Fact
(C) Measure (D) Rational
P AUy GAL dY sAEHEay g4 U B ?

(A) RAAMad B) sBsd
(C) ™A (D) lEs
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Which among the following is aspect of behaviour of a person working in
industrial field ?

(A) Motivation (B) Emotions

(C) Value (D) Psychological
il Gelordi Axui 514 $2-UR alFel ad-d uRj s34 & 7
(A) uwu (B) 4ol

(C) yeu (D) #dsukis

Which among the following option is correctly justify "psychology not only
studies behaviour but also the mind and soul ?"

(A) Western (B) Indian

(C) Contemporary (D) Asian

AaAnaiell 5§ DRt di adn AdeRA o BURUY s Yl uig Ut A
LAHIAL UBL AU 53 D 7

(A) ularl (B) ourdly

(C©) uusdlq (D) R

Which of the learner characteristics will influence his/her perspective in

course of study ?
()  Learner's commitment (iiy Parents interest in the learner
(iiiy  Prior knowledge of the learner (iv)  Skill of the learner in the concerned area

(v)  Family size of the learner
(vi)  Socio-economic background of the family to which the learner belongs

weu1d e iRl 6 elaRisal dy/del-l uRisA ueuld 59 7
(@) iRl aud (1) - AR adlziAl

(i) MR 22UGq stin (iv) Ricifad Rrarul dvidrd slac
(v)  dlv-lren géodd se

(vi) % uRar-l Qe 8 a-dl wsulrs-2ulls yrsoyfy

Choose the correct answer from the options given below :

12 2l Rsaduid] Al gaiet s A ¢

(A) (@), (i) and / 2 (iv) (B) (i), (ii) and / @ (iii)

(C) (i), (iv) and / A (v) ‘ (D) (iv), (v) and / ¥ (vi)

A shift in attitude in respondents between two points during data collection
is called

(A) Reactive effect (B) Maturation effect

(C) Regression effect (D) Conditioning effect

Hifadl A elHui A Bigall a2 Grreldiziidl daRil 3§12 s8alil 214 8
(A) ulaBudla x1uR (B) uRusadl »1ar

(©) A3 wuR (D) AR AR

The components of a research design are :

(i) Comparison (ii) Control (iii) Reactivity
(iv) Manipulation  (v) Non representativeness (vi) Generalization
AN Rodenl uedl & :

O avumel (i) I (i) wlBullad
(iv) sday v) [ wkiRfca (vi) Aru-{ls8L
(A) (iii), (iv), (v) and / 24 (vi)  (B) (i), (iii), (v) and / 24l (vi)
(C) (i), (iii), (iv) and / ¥+ (v) (D) (i), (ii), (iv) and / 24 (vi)
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The major characteristic of correlation analysis is to seek out

(A) Differences among variables (B) Variations among variables
(C) Association among variables (D) Regression among variables
ueaoly Rreduaidl Yoo cialRisdl yard 8

(A) dl 92l dglad (B) =aucl a2 Pi~dl

(C) adl a2l ALl (D) adl a2 A3+

A variable that is manipulated is known as :

(A) Dependent variable (B) Control variable

(C) Independent variable (D) Confoundig variable
24 ¥ ¥ 8232 Sl 2d 8 d adld Aoreuy B

(A) 2ulud a4 B) [~ a4

(C) ade 4 (D) 55160 A9

The conceptual framework in which a research is conducted is called a :

(A) Synopsis of research (B) Research design
(C) Research hypothesis (D) Research paradigm
RS W] FHL AU S8 qReUUL A © Al s8AUYL O ¢

(A) AWs~rl ARIY (B) Riglla- Rosd+

(C) day+ ydareu (D) Ay« geld

What care should be taken in selecting the research topic ?

(A) Conception (B) Intelligence
(C) Ability of researcher (D) Observation
g Rvasd wieolnl g @i Avid A5 ?

(A)  sAw- B) ola

(C) sl andl (D) dadlsH

Which of the following is the shape of the Normal Curve ?

(A) Bell Shaped (B) Flat
(C) Circular (D) Spiked
QA-aiell s AL anisAl 252 8 ?

(A) Aa skl (B) uwe
(©) uRua (D) s

BPK-21005_D] 8 [ Contd...



36

37

38

39

40

Which of the following is an example of a maximum performance test ?
(A) Personality tests (B) Projective personality tests
(C) Aptitude tests (D) Interest and aptitude tests
Qi 53 Hedu usdq uaeid Gelsel 8 ?

(A) lsdc ydaei (B) WN%(sa ailsdac udlasl

(C) doudl udawel (D) W A deudl udlasl

Formulation of a research problem depends on :

() What is the object behind the researcher's choice ?

(i) What are the specific questions ?

(iii) What is the conceptual mode] ?

(iv) Construction of hypothesis

Aela xRl Falel vt ur FelR 8 ¢

(i) Adlusl waieofl wiwa-l &g 4 B ?

(i) AssA Uzl g S ?

(iii) dulRs Wda g & ?

(iv) yduReuild Gl

(A) (i) and / &1 (ii) (B) (D), (ii) and / w1 (iii)

(C) (i), (iii) and / 1 (iv) (D) (), (i), (iii) and / ¥ (iv)
The time-frame in which a study explores a situation or problem is also
called the .

(A) Reference perio (B) Age

(C) Longitudinal (D) Retrospective time

WY Halel 3 i o WRRAR waal wxradl dld 52 8 dA
sdaini w1d B,

(A) deol Anuoum (B) G

(© 3w (D) ydadl axy

From the list given below identify those questions which are called process
rather than content based questions ?

(i) Convergent questions (ii) Divergent questions
(iii) Fact based questions (iv) Concept based questions
(v) Open questions (vi) Closed questions

(2 2ule YRl d ueda 2000 ¥ ARR0-2HIRE Ul oed wBuL sdai
g, 8

(i)  sa%2 sl (i) [alay us-dl (iii) 4lsd 2uHiRa ussil
(iv) vmdxuRausd  (v) el ds-l (vi) oly sl

(A) (i), (ii) and / 12 (iii) (B) (i), (iii) and / ¥R (iv)

(©) (iv), (v) and / ¥ (vi) (D) (i), (iii) and / A (v)

From the list given below identify those questions which are called non-
probability sampling procedures :

(1) Simple random sampling (i) Dimensional sampling
(1ii) Snowball sampling (iv) Cluster sampling
(v) Quota sampling (vi) Stratified sampling

(2 2uda YR d 2Davil FA FA Bre-Acianl 4y uBA0 ssaml 21 8
() AWM I3 Ayl (i) wlRaeely «y-t (iii) *lloli@ Al

(iv) saeR AwRia (v) sdl2 AxRia (vi) wdga Ay
(A) (i), (ii) and / @A (iii) (B) (ii), (iv) and / @14 (v)
(C) (i), (iii) and / 29 (vi) (D) (i), (iii) and / A (v)
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In the presence of loud music, you may still hear the phone ringing or
vibrating. What theory does that suggest ?

(A) Memory and forgetting theory (B) Theory of Listening

(C) Theory of signal detection (D) Incidental memory

el Alla-ll slorul, di e ual Sl BB 2yal aidalEal il asl.
) Rugid yad & 7

(A) ¥yl 2 RRR Ysid (B) =art Rigid

(C) [uodd ada Rigid (D) ©eicis ¥yla

What factors contribute to gender issues ?

(A) Diabetes

(B) Stigma

(C) Marginalization and social suffering

(D) (B) and (C)

[Rior A2l a1 uRetoll sl 20l 8 7

(A) (B) sds

(€) idr v wrulys Yla (D) (B) @A (C)

Which of the following are counseling techniques ?

(A) Paraphrasing (B) Reflecting

(C) Listening (D) All of the above
Azl 585 sG-ARI 2[5 & ?

(A)  uusRAaL (B) Rzdsd~

(C) ising (D) Gu+l daum

What are chronic disease ?

(A) Diabetes (B) Malaria
(C) Fever (D) Dengue
glelsield Ao s B ?

(A) sy (B) uaRw
(©) dia (D) 3y

Hunger, thirst, sleep and sexuality are biological bases of what ?

(A) Physiological (B) Environmental
(C) Society (D) Motivation
oy, dat, Gl @i ol 2 At Flas 2 8 ?

(A)  adlradl (B) walaelly

(C) uu¥ (D) 3:eu
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Which subject knowledge is indispensable for a Clinical psychologist ?
(A) Sociology (B) Psychology

(C) Philosophy (D) All of the above
RBedsufs WA s RNy s sl 8 7

(A) AU (B) AHuWRA

(C) dwagiq (D) GuR-l dum

What is the process of encoding, storing and restoring ?

(A) Listening (B) Memory

(C) Writing (D) Remembering

s 5, AAMSd 59 A Yetulua 539 A A0 uBa 8 ?

(A) ieag B) vyl

(C) dauq (D) wRel

The role of unconscious in creative thinking is known as the process of
(A) Verification (B) Illumination

(C) Inoculation (D) Incubation

ABUHS [FAuw3l 2Addl §PsA WBA Y Qv 20 8

(A aswael (B) Aau-l

(C) d-lsydun (D) S-sy8u-

Which factor is not much related to happiness ?

(A) High self-esteem

(B) Educational level

(C) Close friendship or satisfactory marriage

(D) Meaningful religious faith

el A s wRew ay sifd el ?

(A) G LA™

(B) qalds R

(C©)  oug Biatdl »Ydl AdlusiRg @9

(D) ndyet wlls R

"People control basic anxiety by moving toward, away from, and against

others." Which group of personality psychologists theorized this statement ?
(A) Psychoanalytic (B) Neo-Freudian

(C) Social learning (D) Cognitive

“elSl Y L) dr§, g A g oS yasd Bidd FEBd 5 8.7 alFia
AeldsHA-u sut oA i AR Bigid e ?

(A) wil=ays (B) [Ma-a19Ru-

(©) wrulys Raw (D) su-ucHs
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